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16 R—=Y

Afl - #8 10A~3A KMIETA16H RiEMm (M)
NO E=L) H2E | A% % g6z | FREE | B EES B iz gl IBGL | R=EZ B
| |[AEREEALEREFRMARS 1 O EST E 1 578.0 1 578.0 1 578.0[ 1 578.0] ke
5 |PvnRvo—FiAst 281 (1) |7h77A" yb3hnz — HR| — MR — —| = —| ke
2 |BARH=-VLS 71 (1) [7w774" yb3h0Z — R — R — R — FR[ ks
3 |2 )—LT7y bixASH 141 (1) [7p774" yb3hnz — R — R — FR| — R ke
4 [HA=HES 211 (1) [7h27A" yb3pnz — R — R — R — FHR) ke
| |[AHEREEALERFRMARS 2 (h_ [Bcsi* i 1,080.0[ 1 1,080.0[ 1 1,080.0[ 1 1,080.0] ke
5 [PrvvT— A 282 (1) |BSHAX — R — R — - = —| ks
2 |BARH=-VLS 72 (1) |BSHAX — R — R — R — FR[ ks
3 |2 )—LT7y bixAEH 142 (1) |BSHAX — R — R — R — FhR[ ks
4 |BARHEE 212 (1) |BSHAX — R — R — R — FR[ ks
| |[AEPEEALERFRMARS 3 D [Py rRRFyT4 i 330.0[ 1 3300 1 330.0[ 1 330.0] ke
5 [PrvvT— i 283 1 [AYRRART YT« - R — R — - = —| ks
2 |BARH=-VLT 3 M Ay bRNT YT« — R — R — R — FR[ ks
3 |2 )—LT7y bixAEH 143 M) [Py bRRTYT4 — R — FR| — FR| — FR[ ks
4 |BASHES 213 N [Py bRRNTYT4 — FR| — R — R — FR[ ks
HEET e 214 [ (1) [vzn=hn= i 279.0[_1 279.0[_1 279.0] — —| ke
| |[AEPEEALERFRMARS 4 () [>zrzho= 2 330.0[ 2 330.0[ 2 330.0] — —| ke
2 [HREH=V LS 4 | ) [vrazha= | 330. o[BI 330. 0 [N 330.0] — —| ke
5 [PvvT— KA 284 (1) [zizhp= — R — R — - — —| ks
3 [PU—LT7vy hEARH 144 (1) [zizhp= — R — R — R — —| ks
4 AU ES 215 [ (1) [CerLdTAH i 350.0[ 1 350.0[ 1 350.0[ 1 350.0] ke
| |[AEPEEALERPRMARS 5 ) [CeptntTat 2 400.0[ 2 400.0[ 2 400.0[ 2 400.0] ke
2 AU =V LS B ) [CerviTAB 3 420.0[ 3 420.0[ 3 420.0[ 3 420.0] ke
5 |DvvT— P sit 285 (1) |CeALE TAH - FR| — R — - — —| ks
3 |2 )—LT7y bixAEH 145 (1) |CeALE TAH - FR| — FR| — R — FR[ ke
2 [BAEH=V LS % | () |[E=7> i 790.0] — - = —| 1 790.0[ ke
3 [pu—Lo7y ttsH 146 | () [E—7Y 2 870.0] — - = —| 2 900.0[ ke
5 [PrnNrT— A&t 286 m_ |E=7>v - R — —| — —| — —| ke
| | 2B8HHEEALERFRIGESR 6 Mn [E=2> — R — - — - — BB ke
4 |BASHES 216 Mn [E=2> — FR| — - — - — BB ke
| |[AEPEEALERPRMARS 7 (D [FB-&EFK% i 720.0[_1 720.0[_1 720.0[_1 720.0] ke
HEET Y 21 | () [Se-EEF7H% 2 780.0[ 2 780.0[ 2 780.0[ 2 780.0] ke
5 [PvvTo— KA 287 (1) [BBE2&EEFXKK - R — R — - = —| ks
2 |BARH=-VLT 77 () |SB2EEFHX - FR| — HR| — R — FR[ ks
3 |7 )—LT7y bixAEH 147 (1) B2 EFHX - FR| — FR| — FR| — BB ke
HEET Y 218 [ (1) [Rv= i 315.0[_1 315.0[_1 315.0[_1 315.0] ke
| |[AEPEEALERFRMARS 8 DE 2 500.0[ 2 500.0[ 2 500.0 2 500.0[ ke
5 |DvvT— Rt 288 H Rz — R — FR| — -1 — —| ke
2 |BARH=-VLS 78 Rz — R — R — R — BB ke
3 |2 )—LT7y bixASH 148 H Rz — R — HR| — HR| — FR| ke
3 [pu—Lo7y i 149 | () [wA=—hvt i 870.0[ 1 870.0 1 870.0 1 870.0] ke
HEET Y 219 | (1) [vA=—Ayk 2 900.0[ 2 900.0[ 2 900.0[ 2 900.0[ ke
| |[AHEHEEALERPRMARS 9 ) [wxA=—hvt 3 920.0[ 3 920.0[ 3 920.0[ 3 920.0] ke
I PARAY T Al % 289 (1) [xE=—%hvh — R — R — -1 — —| ks
2 |BARH=-VLS 79 (1 |xE=—%hvk — R — R — R — BB ks
| |[AEHEEALERFRMARS 0[] O [7v8vE i 680.0 — - = —| 1 680.0[ ke
3 [pu—Lo7y i 50 [ () [ov58vE 2 800.0 — - = —| 2 800.0[ ke
5 [PrvvT— A& 290 N |PYE K - R — - = - — —| ke
2 |HASH=V LS 80 M |7>8UK — R — el - = FHR) ke
4 [BRARHEE 220 M |9>8UK — R — - = - = FHR) ke
I |BEReHAS 221 | (1) |B=3(@Bo0S5) i 1,650.0[ 1 1,650.0[ 1 1,650.0[ 1 1,650.0] ke
5 [UrvAvo— FRRakR 201 | ) [BE5 GO0 — | — | — = —| ke
| | 2B8HHEALERFRGESR 11 (1) [BES(E2P S — R — R — HR| — BR[| ke
2 |BARH=-VLS 81 (1) |#EES(E2PA) — R — FR| — R — BB ks
3 |2 )—LT7y bixASH 151 (1) [BES(E2P S — R — R — FR| — BR[| ke
HEET Y 222 | (1) [mE5(EBR) i 1,460.0[ 1 1,460.0] — —| 1 1,460.0 ke
| |[AEHEEALERFRMARS 2 [ O [#=sEw) 2 1,920.0] 2 1,920.0] — —| 2 1,920.0 ke
I PARAY T Al % 292 (1) |#EES (ER) - R — R — - — —| ks
2 |BARH=-VLS 82 (1) |#EEAS (ER) — FR| — FR| — - — BB ks
3 [PU—-LT7vy hEARH 152 (1) |#EES (ER) - R — R — - — FHR| ke
HEET Y 208 | (1) [k# i 375.0[_1 375.0]_1 375.0[_1 375.0] ke
| |[AEHEEALERFRMARS 13 [ () [*k© 2 530.0[ 2 530.0] 2 530.0[ 2 530.0] ke
5 [PvvT— KA 293 M [x#% - R — R — - = —| ke
2 |BARH=-VLS 83 M [xH - HR| — FR| — R — BB ke
3 |2 )—LT7y bixASH 153 OENES”) - FR| — FR| — FR| — FR[ ks
b [Dv v T—Fsi 297 [ 6) [GA) HhUI57— i 245.0 — - = - = = ke
HEET Y 201 [ 6 [GA) HhuI57— 2 290.0] — - = —| 1 290.0[ ke
2 [BREH=V LS 87 | ® [Gh) huI579— 3 330.0] — - = —| 2 330.0[ ke
| |[AEHEEALERFRMARS 17 [ ® [ Huz59— 4 844.0] — - = - 3 844.0] ke
3 |2 )—LT7y bixASH 157 6 |G8) AVIF5T— — FR| — - — - — BB ke
5 [SrRvT—FiRsH 298 | 6) |[WAFARENY k i 299.0] — - = - = —| ke
HEET Y 28 | (6) |WAFARENY k 2 338.0 — — 1 340.0[ 1 340.0[ ke
3 [pU—L77y birXSH 158 [ (6) [LAFAAEDYF 3 340.0] — — KB | 340.0] ke
| |[AEUEEALERPRMARS 18 | 6 [NAFAREDY+ 4 990.0 — —| 2 990.0[ 2 990.0[ ke
2 |BARH=-VLS 88 6) |WAIFAREHY b — R — - — R — FhR[ ks
5 [SrRvT—FiRsH 299 | 6) [WAFARER—L i 296.0[ 1 296.0] — - = —| ke
3 [pu—Lo7y i 159 | ® [LAFARES—L 2 340.0[ 2 340.0[ 1 340.0[_1 340.0[ ke
2 AU =V LS 89 | (0 [VAFARER—L 3 400.0[ 3 400.0 2 400.0 2 400.0] ke
4[R2 ES 220 |6 [wAFARER—L Bl 400. 0 | 400. 0 [N 200. o[BI 400.0] ke
| |[AEHEEALERFRMARS 19 [ 6 [WAFARER—L 4 869.0] 4 869.0[ 3 869.0[ 3 869.0] ke
5 [SrRvT—FiRsH 30 | (6) |=smEvaE i 516.0[ 1 516.0] — - = —| ke
4 A2 ES 230 | (6) |=pmEvaE 2 600.0[ 2 600.0] — - = —| ke
| | 2B8HHEEALERFRGESR 20 (6) [EshEromE - FR| — R — - — —| ks
2 |BARH=-VLT 90 (6) [EshEromE - FR| — FR| — - — —| ks
3 |2 )—LT7y bixASH 160 (6) [EshEromE - FR| — R — - — —| ks
HEET Y 281 [ (6) [FUE—RCER) i 348.0[ 1 348.0[_1 348.0[ 1 348.0] ke
2 A= LS 91 ©® [FJUE—Z2AB 2 370.0[ 2 370.0[ 2 370.0[ 2 370.0] ke
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Afl - 388 10A~3A SHIETA16H REEME (M)
NO AR HE L A IE6z | BRIES | NEH [EES JIE iz F i1 g | R=E#E B
5 S/ T— RSt 301 6 [FUrE—ZAR 3 378.0] 3 378.0] — — = —[ ke
1 [AB8HEEALEESHREES 21 6 [FUrE—ZAR 4 400.0] 4 400.0] 3 400.0] 3 400.0[ ke
3 [V U—LT7 v rERRA 161 6 [FUrE—2AR 5 500.0] 5 500.0] 4 500.0] 4 500.0] ke
5 S/ T— FlREit 302 6 |TEuiAE 1 405.0] 1 405.0] — — = —| ke
4 [BXeuxs 232 6 |TEuihE 2 448.0] 2 448.0] 1 455.0] 1 455.0] ke
3 [V U—LT7 v R 162 6 |TEui hE 3 530.0] 3 530.0] 2 530.0] 2 530.0] ke
2 [(REH=L LS 92 6 |TEui AE 4 600.0] 4 600.0] 3 600.0] 3 600.0[ ke
1 [ABBMEZEALEREFRHBER 22 (6) TEWE GRR) — #R| — #R| — R — R ke
5 |SxvT— Ftei 303 6) [TEVLEYY AR 1 385.0] 1 385.0] — == —| ke
4 [HXeuxs 233 6) [TEVLEYY AR 2 387.0] 2 387.0] 1 400.0] 1 400.0] ke
1 [ABBMEZEALEREFRHBER 23 (6) SEVLETY CRE) = R — R — R — iR kg
2 |AEH=VLF 93 (6) S EVLETY CRE) = #R| — #R| — #R| — iR kg
3 |1V )—LT7 v b= 163 (6) SEVLETY CRE) = #R| — R — R — iR kg
5 |Sx/vT— Ftei 304 6 &332 L AR 1 273.0] 1 273.0] — —1 = —| ke
4 [HXexs 234 6 |&38nCL AR 2 274.0] 2 274.0] 1 274.0] 1 274.0] ke
3 [V U—LT7 v rHERRA 164 6 &332 L AR 3 460.0] 3 460.0] 2 460.0] 2 460.0] ke
2 [BXet= L3 94 6 |&38nCL AR 4 600.0] 4 600.0] 3 600.0] 3 600.0] kg
1 [ABBMEZEALEREFRHBER 24 (6) ES5HAHZ L (B-HeE) = #R| — #R| — R — R kg
4 [HXeuxs 235 6 |E—<v=vszR (& 1 318.0] 1 318.0] 1 340.0] 1 340.0] ke
2 [BXet= L3 95 6 |E—<>=vszR (& 2 480.0] 2 480.0] 2 480.0] 2 480.0 ke
S PETAVI AN 3-%--F 4 305 (6) E—YYIvIR (& = #R| — #R| — - — —| ke
1 [ABBMEZEALEREFRHBER 25 (6) E—T IvIR (B = #R| — #R| — #R| — R ke
3 |1V )—LT7 vy b= 165 (6) E—T IvIR (B = #R| — #R| — #R| — R ke
5 S/ T— FlkREit 306 6) |hACAILTIY &) 1 331.0] 1 331.0] — —1 = —| ke
4 [HXeuxs 236 6) |hACAILIY &) 2 350.0] 2 350.0] 1 357.0] — —| ke
3 [VU—LT7 v R 166 6) |nACAILIY &) 3 380.0] 3 380.0] 2 380.0] — —| ke
1 [ABBMEZEALEEFRHER 26 6) [MAZAETY &) = #R| — #R| — R — —| ke
2 |AEH=VLF 96 6) [MAZAETY &) = #R| — #R| — #R| — —| ke
5 S/ T— FlkREit 307 6) |ZEICAIZ< Gh) 1 399.0] 1 399. 0] — —1 = —| ke
3 [V U—LT7 v R 167 6) |ZEICAIZ< Gh) 2 415.0] 2 415.0] 1 415.0] 1 415.0] ke
4 [HXeuxs 237 6) |ZEICAIZ< Gh) 3 450.0] 3 450.0] 2 450.0] 2 450.0[ ke
1 [ABBMEZEALEEFRHBER 217 6) |FEIZAIZ G — #R| — #R| — R — iR ke
2 |MAEH=VLF 97 6) |FEIZAIZ G — #R| — #R| — R — R ke
4 [BXeuxs 238 6 |#YIcALA (54 LCH) 1 2,345 0] 1 2,345 0] 1 2,345 0] 1 2,345.0] ke
2 [BXet= L3 98 6 |#YIcALA (5&4LCH) 2 2,800.0] 2 2,800.0] 2 2,800.0] 2 2,800.0] ke
I PEATAVI AN " I-%--F 4 308 6) [YICALA (H&#LH) = iRl — #R| — - — —| ke
1 [ABBMEZEALEREFRHBER 28 6) |[#HYIZALA (3HLE) = R — R — #R| — R ke
3 |1V )—LT7 v b= 168 6) |[#HYIZALA (ZHLE) = R — #R| — #R| — R ke
4 | BRanAZ 239 6 [#YIcALA (@) 1 2,345 0] 1 2,345 0] 1 2,345 0] 1 2,345.0] ke
? |[Bxet=-o LS 99 6 [#YIcACA (&) 2 2,800.0] 2 2,800.0] 2 2,800.0] 2 2,800.0] ke
I PETAVI LN 3-%--F i 309 6) [YICALA () = R — #R| — - — —| ke
1 [ABBMEZEALEEFRHBER 29 6) |[#YICALCA (i8) = #R| — #R| — #R| — R ke
3 |1V )—LT7 v b= 169 6) |[#YICALCA (i8) = #R| — R — #R| — R ke
3 [V U—LT7 v A 170 6 |[BEE,EL®GE) 1 320.0] 1 320.0] — == —| ke
1 [ABBMEZEALEEFRHBER 30 6) |FEEMZSE » HE) = #R| — #R| — - — —| kg
2 |MAEH=VLF 100 6) |FEEMZSE B HE) = #R| — R — - — —| kg
4 | XSZ 240 6) |FEEMZSE B HE) = R — R — - — —| kg
S PETAVI LN I-%--F i 310 6) |FEEMZSE B HE) = R — R — - — —| kg
4 [HXeuxs 251 | (13) [CEm 1 900.0] 1 900.0] 1 900.0] 1 900.0] ke
2 [BXet= L3 11 | (13 [C#m 2 950.0] 2 950.0[ 2 950.0] 2 950.0[ ke
1 [aB8HEEALEESHEES A1 (13) [cFm 3 1,140.0] 3 1,140.0] 3 1,140.0 3 1,140.0] ke
I PETAVI AN 3-%--F i 321 (13) |ZFim = #R| — R — - — —| ke
3 |1V )—LT7 v b= 181 (13) |ZFim = #R| — R — #R| — R ke
4 [HXeuxs 252 | (13) [#if-taim 1 285.0[ 1 285.0] 1 285.0] 1 285.0] ke
1 [aB8HEZEALEESHREES 42 (13) | t-1aim 2 300.0] 2 300.0] 2 300.0] 2 300.0[ ke
2 [BXet= L3 12 | (13) [Htrtim 3 320.0] 3 320.0] 3 320.0] 3 320.0[ ke
I PETAVIP AN 3-%--F 4 322 (13)  |%f-tail = R — #R| — - — —| ke
3 |1V )—LT7 vy b= 182 (13)  |%f-tail = R — R — #R| — R ke
1 [aB8HEEALEESHREES 43 DETE 1 426.0] 1 426.0] 1 426.0] 2 310.0] ke
4 | XSZ 253 (13) |&IFm = R — R — HR| 1 270.0] ke
S PETAVIP AN I-%--F 4 323 (13) |BIFm = R — R — - — —| ke
2 |AEH=VLS 113 (13) |BIFm = #R| — R — R — R ke
3 |1V )—LT7 v b= 183 (13) |BIFm = R — R — #R| — R ke
4 [mXexs 254 | (14) [53FBE0IYF) 1 1,120.0] 1 1,120.0] 1 1,120.0] 1 1,120.0] ke
1 [aB8pEZEALEESHREES 44 (14) [5FomuivF) 2 1,180.0] 2 1,180.0] 2 1,180.0] 2 1,180.0] ke
5 [Py nNrT7— kA& 324 (14) [5FEWUSYF) = R — R — - — —| ke
2 |BHXH=V LT 114 (14) [5FEWUSNYF) = #R| — R — R — R ke
3 |1V )—LT7 v b= 184 (14) [5FEWUSYF) = R — R — R — iR ke
5 |SxvT— Ftei 325 [ (14) [FAFL®T) 1 898.0] 1 898.0] — == —| ke
3 [V U—LT7 v R 185 | (14 [EgaFv@T) 2 900.0] 2 900.0] 1 900.0] 1 900.0] ke
4 [HXeuxs 255 [ (14) [FAFL W) 3 970.0] 3 970.0] 2 970.0] 2 970.0] ke
1 [ABBMEZEALEREFRHBER 45 (14) [FAFEFWNWT) = R — R — #R| — iR kg
2 |AEH=VLF 115 (14) [FAFEFWNWT) = #R| — R — #R| — iR ke
1 [aB8HEEALEESHREES 46 (14) |54 R+ MEEE 1 250.0] 1 250.0] 1 250.0] 1 250.0] ke
4 [BXeuxs 256 | (14) [F4 R MEE 2 384.0] 2 384.0] 2 384.0] 2 384.0[ ke
I PETAVI AN I-%--F 4 326 (14) |FA4R+< MEE = R — R — - — —| ke
2 |MAEH=VLF 116 (14) |FA4 R < MMEEE — R — R — R — R ke
3 |1V —LT7 v b= 186 (14) |FA4 R < MMEEE — R — R — #R| — R ke
7 |BRat=—> LS 17 | a4 |[vrkEIL—2 1 1,100.0] 1 1,100.0] 1 1,100.0] 1 1,100.0] ke
4 |BRenAZ 257 | (4 [yrkEIL—% 2 1,178.0] 2 1,178.0] 2 1,178.0] 2 1,178.0] ke
3 [V U—LT7y R 187 | (14 [vrkEIL—2 3 1,200.0] 3 1,200.0] 3 1,200.0] 3 1,200.0] ke
5 |Sx/vT— Ftei 327 | (4 [yrkEIL—% 4 1,349.0] 4 1,349. 0] — == —| ke
1 [aB8HEEALEESHEES 47 (14 [vrkEIL—2 5 1,370.0] 5 1,370.0] 4 1,370.0] 4 1,370.0] ke
4 [BXeuxs 258 | (14) [wrmEs 1 1,055.0] 1 1,055.0] 1 1,055.0] 1 1,055.0] ke
2 [HXe=T LS 18 | (4 [vrmas 2 1,140.0] 2 1,140.0] 2 1,140.0] 2 1,140.0] ke
3 [V U—LT7y A 188 | (14 [vrmEs 3 1,200.0] 3 1,200.0] 3 1,200.0] 3 1,200.0] ke
5 |SxvT— Ftei 328 | (14) [wrmEs 4 1,349.0] 4 1,349. 0] — —|[ = —| ke
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A#l - 38 10A~3A SMTETA16R R (M)
NO & EE mE m % JEfL | HES | JEHL g JEfZ L &R GG | H=iE B
1 | ABUFEALBREERERS 48 (14) [vrmElT — HR| — HR| — HR| — H#R| ke
1 | ABUFZEALBREERERS 49 (14) |lF>&< (EEE 1 1,100.0f 1 1,100.0f 1 1,100.0f 1 1,100.0] kg
5 |DvnNrT—RFHRAEH 329 (14) [lF>&< (EEE — HR| — HR| — - = —| ke
2 A= LT 119 (14) |lF->&< (EEE — HR| — HR| — HR| — HR| ke
3 [V)—=LT7v bk EH 189 (14) [lF>&< (EEE — HR| — HR| — HR| — HR| ke
4 A EHAZ 259 (14) [lF->&< (EEE — HR| — HR| — HR| — H#R| ke
2 A= LT 120 (14) |Rv2a)—LUNDF) 1 970.0| 1 970.0| 1 970.0f 1 970.0] kg
4 |HAEHAZ 260 (14) |Rv2a)—LUNDF) 2 971.0| 2 971.0| 2 971.0] 2 971.0] ke
3 [V)—=LT7v bk 190 (14) |Rv2a)—LUNDF) 3 1,200.0] 3 1,200.0| 3 1,200.0] 3 1,200.0] kg
1 | ABRUFEALBREERERS 50 (14) |Rv2a)—LUNDF) 4 1,300.0| 4 1,300.0| 4 1,300.0| 4 1,300.0] kg
5 [CrnvT7—FikX&tt 330 (14) [y a)—L0UIDF) — Rl — Rl — —| — —[ ke
1 | ABUFZEALBREERERS 51 (14) |#DAE 1 990.0| 1 990.0| 1 990.0f 1 990.0] kg
5 |DvnNrT— KA H 331 (14) |#DAE — HR| — HR| — - = —| ke
2 A= LT 121 (14) |#DAE — HR| — HR| — HR| — H#R| ke
3 [V )—=LT7v bkt 191 (14) |#DAE — HR| — HR| — HR| — H#R| ke
4 HAEHAZ 261 (14) |#DAE — HR| — HR| — HR| — H#R| ke
4 A EHAZ 262 (14) [E9vH 9 RE—2X (58RE 1 654.0] 1 654.0| 1 654.0f 1 654.0] kg
3 [V )—=LT7v bkt 192 (14) [E9vH 9 RE—2X (58RE 2 670.0| 2 670.0| 2 670.0] 2 670.0] kg
5 |DvnNrT— KKK 332 (14) [29vH 9 RE—2X (58RE — HR| — HR| — - = —| ke
1 | ABUFEALBREERERS 52 (14) [E9vH 9 RE—2X (58RE — HR| — HR| — HR| — H#R| ke
2 A= LT 122 (14) [EvH 9 RE—2X (58RE — HR| — HR| — HR| — H#R| ke
1 | ABUFZEALBREERERS 53 (14) [BEEH (Fv2¥) 1 1,145.0] 1 1,145.0f 1 1,145.0f 1 1,145.0] kg
5 |DvnNrT— KA EH 333 (14) [BEEH (Fv2¥) — HR| — HR| — - = —| ke
2 A= LT 123 (14) |[BEEH (Fv2¥) — HR| — HR| — HR| — H#R| ke
3 [V)—=LT7v bkt 193 (14) |[BEEH (Fv2¥) — HR| — HR| — HR| — H#R| ke
4 |[HAEHAZ 263 (14) [BEEH (Fv2¥) — HR| — HR| — HR| — H#R| ke
4 B AZ 264 4) |k&\ELWE=F1/4HY + 1 1,188.0| 1 1,188.0| 1 1,188.0f 1 1,188.0 kg
5 |\ T— KA H 334 (14) |KELW=F1/47 v + — HR| — HR| — - = —| kg
1 | ABRUFZEALBREERERS 54 (14) |KELW=F1/47 v b — HR| — HR| — HR| — HR| ke
2 A= LT 124 (14) |KELW=F1/47 v b — HR| — HR| — HR| — HR| ke
3 [V —=LT7v bkt 194 (14) |KELW=F1/47 v b — HR| — HR| — HR| — HR| ke
4 |HAEHAZ 265 (14) |KELW=FRZ/4X 1 994.0] 1 994.0] 1 994.0f 1 994.0 kg
5 |DvnNrT—FHEAEH 335 (14) |KELW=FRZ/4X — HR| — HR| — - = —| kg
1 | ABUFZEALBREERERS 55 (14) |KELW=FRZ/4X — HR| — HR| — HR| — HR| ke
2 A= LT 125 (14) |KELW=FRZ/4X — HR| — HR| — HR| — HR| ke
3 [PV —=LT7v bkt 195 (14) |KELW=FRZ/4X — HR| — HR| — HR| — HR| ke
1 | ABUFEALBREERERS 56 (14) |KEz=—Fh 1 1,850.0| 1 1,850.0| 1 1,850.0f 1 1,850.0 kg
5 DN T— KKK 336 (14) [KEz—-Fk — HR| — HR| — - = —| kg
2 A= LT 126 (14) |KEZ—Fh — HR| — HR| — HR| — HR| ke
3 [V —=LT7v bkt 196 (14) |KEzZ—Fh — HR| — HR| — HR| — HR| ke
4 |HAEHAZ 266 (14) |KEZ—Fh — HR| — HR| — HR| — HR| ke
2 A= LT 127 (14) | K= (EE.®PT) 1 332.0] 1 332.0] 1 332.0f 1 332.0] ke
5 |DvnNrT—FHEAEH 337 (14) | K= (EE.PT) 2 349.0| 2 349.0] — - — —| kg
3 [V)—=LT7v bkt 197 (14) | K= (EE.PT) 3 350.0] 3 350.0| 2 350.0] 2 350.0] ke
4 |HAEHAZ 267 (14) | K= (EE.PT) 4 475.0| 4 475.0] 3 475.0] 3 475.0] kg
1 | ABRUFEALBREERERS 57 (14) | K= (EE.PT) 5 480.0| 5 480.0| 4 480.0| 4 480.0] kg
4 |HAEHAZ 268 [ (16-1) [LZUVOLZDHEE 1 1,166.0| 1 1,166.0| 1 1,166.0f 1 1,166.0] kg
5 |DvnNrT—RFHEAEH 338 [ (16-1) [LZUVLZ=DHEE — HR| — HR| — - = —| ke
1 | ABRUFEALBREERERS 58 (16-1) |LZUVLZEDME — HR| — HR| — HR| — H#R| ke
2 A= LT 128 | (16-1) |[LZUVLZEDME — HR| — HR| — HR| — H#R| ke
3 [V )—=LT7v bk Et 198 | (16-1) |[LZUVLZEDME — HR| — HR| — HR| — HR| ke
3 [V)—=LT7v bkt 199 [ (16-1) [f=1F>Z k&) = —| 2 550.0] 1 550.0f 1 550.0] kg
4 |HAEHAZ 269 | (16-1) |7=1TdD Z (K&E) % = —| 3 650.0| 2 650.0| 2 650.0] kg
5 DN T—FHEAEH 339 | (16-1) |7=1TdD Z (K&E) % = —| 1 530.0] — - — —| kg
1 | ABUFZEALBREERERS 59 (16-1) |#=17dD (k&) X — - — HR| — HR| — H#R| ke
2 A= LT 129 [ (16-1) [~ Z k&) — - — HR| — HR| — HR| ke
3 [V )—=LT7v bkt 200 | (16-1) [f=1+dD Z (k&) 2kg 1 720.0f — —| — - — —| kg
1 | ABUFZEALBREERERS 60 (16-1) |f=1TdD Z OKE) 2ke = HR| — - — - — —| ke
2 A= LT 130 | (16-1) |7z ()K&E) 2ke = HR| — - — - — —| ke
4 |HAEHAZ 270 | (16-1) [f=1+dD Z (k&) 2kg = HR| — - — - — —| ks
5 [Crnvo— iR Eit 340 | (16-1) |f<13dDC (k&) 2ke — BR[| — -1 — - — —| ke
5 DN T— KA EH 341 (16-1) |f=ITD ZFLNY OKE) 1 528.0] — — = - — —| kg
3 [V )—=LT7v bkt 201 (16-1) |f=ITD ZFLNY OKE) 2 530.0] — — = - — —| kg
4 |HAEHAZ 271 (16-1) |f=ITD ZFLNY OKE) 3 532.0] — — = - — —| kg
1 | ABUFEALBREERERS 61 (16-1) |f=ITDZFLNY OKE) 4 960.0|] — — = - — —| kg
2 |HKEsH=T LS 131 (16-1) [+ ZFNY (k&) 5 1,000.0] — — = - — —| kg
1 | ABUFEALBREERERS 62 (16-1) |[OKZFHWT) 1 513.0] 1 513.0] 1 513.0f 1 513.0] kg
4 |HAEHAZ 272 [ (16-1) [OLCFHWT) 2 635.0| 2 635.0| 2 635.0 2 635.0] kg
3 [V )—=LT7v bkt 202 [ (16-1) [OLCFHWT) 3 700.0f 3 700.0f 3 700.0| 3 700.0| kg
5 |DvnNrT—FHEAEH 342 [ (16-1) [OECFHWT) — HR| — HR| — - = —| ke
2 A= LT 132 | (16-1) |[OKZFEHWT) — HR| — HR| — HR| — H#R| ke
4 | XSZ 273 | (16-1) |[TIL—A1)— (¥ L) 1 13.8 1 13.8 1 13.8] 1 13.8] &
3 [V )—=LT7v bkt 203 [ (16-1) |[TIL—AR1)—(D¥ L) 2 14.5[ 2 15.5[ 2 14.5| 2 14.5] &
1 | ABUFZEALBREERERS 63 (16=1) |TIL—R_RY)—=(Dx L) 3 24.0] 3 24.0] 3 24.0[ 3 24.0[ {E
5 |DvnNrT—FHEAEH 343 | (16-1) |[TIL—AR)—(D¥ L) — HR| — HR| — - — —| &
2 A= LT 133 | (16=1) |TIL—R_R)—(Dx L) — HR| — HR| — HR| — HHR| A
4 A EHAZ 274 | (16-1) [{ERf* 1 2,905.0f 1 2,905.0f 1 2,905.0| 1 2,905.0| ke
5 |DvnNrT—FHEAEH 344 | (16-1) [{EEFH* — HR| — HR| — - = —| ke
1 | ABUFEALBREERERS 64 (16-1) [3EBE#H — HR| — HR| — HR| — HR| ke
2 A= LT 134 | (16-1) EEEH — HR| — HR| — HR| — H#R| ke
3 [V )—=LT7v bkt 204 | (16-1) [{EEfH* — HR| — HR| — HR| — H#R| ke
4 |teuxz 275 (16-1) |#HL £ S5H 1 990.0| 1 990.0f 1 990.0] — —| kg
5 |DvnNrT— AR H 345 | (16-1) |ZAHL & 5H — HR| — HR| — - = —| ke
1 | ABRUFEALBREERERS 65 (16-1) |ZAL &£ DA — HR| — HR| — Rl — —| ks
2 A= LT 135 [ (16-1) [ZAHL £5M — HR| — HR| — HR| — —| ke
3 [V)—=LT7v bk Et 205 | (16-1) |ZAL & 5H — HR| — HR| — Rl — —| ks
2 A= LT 136 | (16-1) |#TIY CAlzeL< 1 280.0| 1 280.0| 1 280.0f 1 280.0] kg
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A#l - #8 10A~3A KMIETA16H RiEMm (M)
NO e=Xai oHE | A% % g6z | FREE | B S B iz JEER IBGL | R=EE B
3 [U—LT7y tRSH 206 | (16-D) [##81Y CAIc#< 2 310.0[ 2 310.0[ 2 310.0[ 2 310.0[ ke
b [DvSvT—FrRsi 346 | (16-D) [##851Y CAIc#< 3 317.0[ 3 317.0] = = —| ke
| [AHMEEAEERPRERS 66 | (16-1) [#¥1Y CAl=e< 4 336.0] 4 336.0] 3 336.0[ 3 336.0] ke
e Y 276 | (16-D) [#81Y CAIc#< 5 355.0] 5 355.0] 4 355.0] 4 3550 ke
3 [U—L77y tRSH 207 | (16-1) [k Alce<iomhy bk | 1 310.0[ 1 310.0[ 1 310.0[ 1 310.0] ke
5 [SvAvT—FiRas 347 | (16-D) [kCAlce<10mhyk | 2 325.0[ 2 325.0] — - = —| ke
| [AHMEEAEERPRERS 67 | (16-1) [RCAlce<10mhyr | 3 359.0[ 3 359.0[ 2 359.0[ 2 359.0 ke
2 [BARH=VLST 137 | (6-1) [RCAlce<10mBy b — R — R — R — FR[ ks
4 |BASHEE 277 | (6-1) |RCAlcwe<10mby b — R — PR — R — FR[ ks
e Y 278 | (16-D [A81Y CAlcel 1 380.0] — - = [ = —| ke
| | 2B8HHEALERFRIGESR 68 | (16-1) [AETYAlITe< — R — el - = —| ks
2 |[BXEH=VLS 138 | (16-1) [AHY A< — #E] — = i —| ke
3 [PU—-LT7vy hEARH 208 | (16-1) |AEY CAlITe< — R — el - = —| ks
I ACAC A Al % - 348 | (16-1) |AYIY CAISeL< — HR| — —| = —| = —| ke
2 |[BREH=VLS 139 | (6-1) |58 i 204.0[ 1 204.0[ 1 204.0[ < C 204.0] ke
HEET Y 219 | (16-1) |23 [<t] 204. 0 | KNEN 204. 0 | BN 2040 | 204.0] ke
3 [VU—L77y tRSH 209 | (16-D |=3L 2 264.0[ 2 264.0] 2 264.0] 2 264.0] ke
5 |[OvnRvTo— A= 349 [ (16-1) |=ZL - R — R — - = —| ke
| | ABRMEEALERPREER 69 (16-1) |=# - R — R — R — BB ke
3 [ —L77y tRSH 210 | 6-1) [ Al <k 1 310.0[ 1 310.0[ 1 310.0[ 1 310.0] ke
b [Dv /v T—FrRsi 350 | (6-1) [ Alze <k 2 316.0[ 2 316.0] — = —| ke
e Y 280 | (16-1) [ Al=e <k 3 320.0[ 3 320.0[ 2 320.0[ 2 320.0] ke
| [aHMEEAEERPRERS 70 | (16-1) RS AISe < 4 336.0] 4 336.0] 3 336.0] 3 336.0] ke
2 |[BXEH=VLS 140 | (6-1) [IRS Al <k 5 460.0[ 5 4600 4 4600 4 460.0 ke
e Y 24 | 1) [FEmEL—Z=2y (B | 1 1,390.0[_1 1,390.0[_ 1 1,390. 01 1,390.0[ ke
2 |[BXEH=VLS 84 | (@) [FEmEs—X=>y (@ | 2 1,410.0] 2 1,410.0] 2 1,410.0] 2 1,410.0] ke
| [AHMEEAEERPRERS 14 | @1 [FEmEL—X=2J A | 3 1,540.0] 3 1,540.0] 3 1,540.0] 3 1,540.0] ke
5 |Dw v T— P sit 294 | (-1 |FEEHEL =2 (A — R — R — -1 — —| ke
3 [PU—-LT7vy hEARH 154 | 1) |BEEgEL—RX=VJ (A — R — R — R — FHR| kg
e Y 225 | 2-1) [EhT 1 598.0[ 1 598.0[ 1 598.0[ 1 598.0 ke
3 [VU—LT7y tERSH 155 | (-1 [@nrd 2 785.0] 2 785.0] 2 785.0] 2 7850 ke
5 |DvvT— Pt 295 | (2-1) AT — R — R — - — —| ks
| 2B HEALERFRGESR 15 2-1) |BErT — R — R — R — FR[ ks
2 |BARH=-VLS 85 2-1) |BErd — R — R — R — FR[ ks
5 [Sxvo—Rirten 206 | (1) |EE (LR 1 696.0| I 696.0| — —| = —| ke
e Y 206 | (1) [EHECESR 2 698.0[ 2 6980 1 760.0[ 1 7600 ke
| | ABRMEEALERPREER 16 (2-1) BB (LS - R — R — R — BB ke
2 A=V LT 86 (2-1) BB (LS - FR| — R — R — BB ke
3 [PU—LT7vy hEARH 156 | (2-1) [HEHEHE - R — R — FR| — BB ke
e Y 241 | G-1) [pesY TLVEE) 1 5,840.0] — [ = —| 5,840.0 ke
| [AHMEEAEERPRERS 31 | (-0 [pBY TrvkE) 2 6.400.0] — - = —| 2 6.400.0 ke
5 |[OvwnRvo— A= 311 -1 _|phEY (TILVIEE) - R — - = - — —| ks
2 |BARH=VLS 101 -1 &Y (TILVIEE) — R — - — - — FR[ ks
3 [PU—LT7vy hEARH 171 -1 _|ph&EY (TILVIEE) — FR| — - — - — FhR[ ks
e Y 242 | G-1) [9dvy (TviEE) i 4,320.0] 1 4,320.0 1 4,320.0 1 4,320.0] ke
| [AHMEEAEERPRERS 32 | (-1 [@ry (GrvikE) 2 4,760.0] 2 4,760.0] 2 4,760.0] 2 4,760.0 ke
5 [OvnRvo— A= 312 | (7-1) |@hY (JILVIRE) - R — R — - = —| ks
2 |BARH=-VLS 102 | -1 [®palY (FLViKRE) — R — R — R — FR[ ks
3 [PU—LT7vy hEARH 172 | (-1 [®alY (FILViRE) — R — FR| — R — BB ks
e Y 243 | G-1) [si@huhuis i | 10840.0] 1 | 10,840.0] 1 | 10,840.0[ 1 | 10.840.0] ke
2 |[BXEH=V LS 103 | -0 [se@huhuis 2 | 12,500.0 2 | 12,500.0] 2 | 12,500.0] 2 | 12,500.0] ke
5 [OvnRvo— A= 313 | (-1 |#EH)HYiE - R — R — - = —| ks
| | 2B8HHEALERFRGESR 33 (J-1) [FRHhUh\is - R — R — FR| — FR[ ks
3 [PU—-LT7vy hEARH 173 | (-1) |E&h)h)ie - R — R — R — FR[ ks
| [AHMEEAEERPRERS 3 | G- [FL#EE (R54R) 1 6.890.0] 1 6.890.0] 1 6.890.0] 1 6.890.0 ke
5 [OvnRrvTo— A= 314 | (-1) |FL#E (R5/4R) - R — R — - = —| ks
2 |BARH=-VLS 104 | -1 [FL#EE (R54R) — R — R — R — FR[ ks
3 [VU—LT7y tRSH 174 | 0-D [FLEE R5A4R) — #E] — #E] — #E] — #E| ke
4 |BASHEE 244 | (1) |TLHE (RFM4X) — R — R — R — FR[ ks
| [aHMEEAEERPRERS 35 | (- [FuoLZ@E i 7,358.0] 1 7,358.0] | 7,358.0] 1 7,358.0] ke
5 |DvvT— Pt 315 | (7-1) |FuLZ (D) — R — R — - — —| ks
2 |BARH=-VLS 105 | (7-1) [FOo L= (&) — R — R — R — BB ke
3 [PU—LT7vy hEARH 175 | (-1) [Fo L= () — R — R — R — FR[ ks
4 |BASHEE 245 | (0-1) |FuLZED — R — R — R — BB ks
I [ BRaHAS 246 | -1) |BcE 1 700.0] 1 700.0] 1 700.0] 1 7000 ke
| [AHMEEAEERPRERS % | (-1 [BSE 2 740.0] 2 740.0] 2 740.0] 2 7400 ke
2 |[BXEH=V LS 106 | 0-D |[BCE 3 745.0] 3 745.0] 3 745.0] 3 7450 ke
5 |[OvnRvo— A= 316 | (7-1) |BCEF - R — R — - = —| ke
3 [PU—LT7vy hEARH 176 | (-1 [BZF — R — R — R — FhR[ ks
2 |[BXEH=V LS 107 | -0 [&#F% <L 520.0 1 520.0 1 5200 1 520.0] ke
4 AU ES 247 | (-1 _|BFX B 520. 0 |RHEN 520. 0 |RHEN 520. 0 |HEH 520.0( kg
| [aHMEEAEERPRERS 37 | (- [BCFE 2 650.0[ 2 650.0[ 2 650.0[ 2 6500 ke
5 |[OvnRvo— A= 317 -1 |BTFX — BR[| — R — - = —| ks
3 [PU—LT7vy hEARH 177 | -1 [BZFEX — R — R — R — BB ke
| [AHMEEAEERPRERS 8 | (-1 [BS#F150e% — i - = — 1 1,200.0] kg
5 [PrnvT— A&t 318 | (7-1) |BCF150g% = —| = —| = —| = —| ke
2 |BRARH=VLS 108 | (-1 [BS#150e% — i == == #E| ke
3 |2 )—LT7y bixASH 178 | (7-1) |BCF150s% — el el - — FR[ ks
4 |BASHEE 248 | (7-1) |BZF1508% — —| = —| = el FR| ke
R STEDIN 00 | -0 |B3Yc= 1 540.0[ 1 5400 1 5400 1 540.0[ ke
P Ty 29 | 1) |@dycE 2 543.0[ 2 543.0[ 2 543.0[ 2 543.0] ke
| [aHMEEAEERPRERS 39 | G- [BgycE 3 698.0] 3 698.0[ 3 698.0] 3 698.0 ke
5 |[OvnRvTo— A= 319 | -1 B3 YCE - R — R — - = —| ke
3 [PU—LT7vy hEARH 179 | (-1 |BFYCE — R — FR| — R — BB ks
| [AEMEEAEERPRERS 20 | (-1 [BFYCFI0e%k — i - = — 1 1,500.0] ke
5 [SwAvT—FiRas 320 | G-1) [BFUCHINeH — i i - = —| ke
2 |BRARH=VLS 110 | -0 [BFY#i20e% — — — == == #E| ke
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A#l - 38 10A~3A SMTETA16R R (M)
NO & EE i m % JEGL| W|IES | IEf JEfZ JL &R g6 | Z=5 B
3 [pu—5n77vriaksnt 180 [ (7-1) [AFYSF120g% — — - = — #E[ ke
4 | BRenAZ 250 | (7-1) |B3YCFI120eR — — - — - #iR| ke




